




a) 15 1/4 km

b) 8 5/8 km

c) 15 3/4 km

d) 17 3/4 km

A person walked from a village to a hospital at a speed of 30 km/h and walked 

back at a speed of 2 km/h. If the whole journey took 4 h 36 min, find the 

distance of the hospital from the village.

एक व्यक्ति एक गाांव से अस्पताल तक 30 क्तकमी/घांटा की गक्तत से चला और 2 क्तकमी/घांटा की 

गक्तत से वापस चला गया। यक्ति पूरी यात्रा में 4 घांटे 36 क्तमनट लगते हैं, तो गााँव से अस्पताल की 

िूरी ज्ञात कीक्तिए। 



a) 5 ∶ 7

b) 7 ∶ 5

c) 7 ∶ 9

d) 9 ∶ 7

If the ratio P ∶ Q = 2 ∶ 3, and Q ∶ R = 3 ∶ 4 then the ratio P + Q ∶ Q + R is

यक्ति अनुपात P ∶ Q = 2 ∶ 3 और Q ∶ R = 3 ∶ 4 हैं, तो अनुपात P + Q ∶ Q + R है:



a) ₹ 1,344

b) ₹ 1,200

c) ₹ 840

d) ₹ 1,220

Rajesh buys a cycle for ₹ 1,400 and sells it at a loss of 40%. What is the selling 

price of the cycle?

रािेश एक साइक्तकल ₹ 1,400 में खरीिता है और उसे 40% की हाक्तन पर बेचता है। साइक्तकल 

का क्तवक्रय मूल्य क्या है?



a) 8022

b) 6685

c) 3820

d) 2865

A sum of ₹ 18527 is divided between A, B and C such that the ratio of the 

shares of A and B is 4 ∶ 7 and that of B and C is 5 ∶ 6. What is the share of A 

(in ₹)?

₹ 18527 की राक्तश को A, B और C के बीच इस प्रकार क्तवभाक्तित क्तकया िाता है क्तक A और 

B के क्तहस्सों का अनुपात 4 ∶ 7 है और B और C के क्तहस्सों का अनुपात 5 ∶ 6 है। A का क्तहस्सा 

(₹ में) क्या है?



a) 4 ∶ 3

b) 3 ∶ 2

c) 3 ∶ 4

d) 2 ∶ 3

Two trains starting at the same time from two stations 300 km apart and 

going in opposite directions cross each other at a distance of 180 km from one 

of the stations. What is the ratio of their speeds?

िो टे्रनें एक ही समय में 300 क्तकमी की िूरी पर क्तस्ित िो स्टेशनों से क्तवपरीत क्तिशाओां में चलना

प्रारांभ करती हैं और एक स्टेशन से 180 क्तकमी की िूरी पर एक-िूसरे को पार करती हैं। उनकी 

गक्तत का अनुपात क्या है?



a) 11

b) 13

c) 9

d) 12

If the average of 5 consecutive odd integers in increasing order is 11 , then the 

average of the last 3 of them is:

यक्ति आरोही क्रम में 5 क्रमागत क्तवषम पूर्ाांकों का औसत 11 है, तो उनमें से अांक्ततम 3 का 

औसत है:



a) 18%

b) 10%

c) 15%

d) 12%

After two successive discounts, a pen with a list price of ₹ 175 is available at ₹ 

129.15. If first discount is 10%, what is the second discount?

िो क्रक्तमक छूटों के बाि, ₹175 की सूची मूल्य वाला एक पेन ₹129.15 पर उपलब्ध है। यक्ति 

पहली छूट 10% है, तो िूसरी छूट क्या है?



a) 0

b) 1

c) 5

d) 3

Find the least number which should be added to 2495 so that the sum is 

exactly divisible by 6,4 and 3 .

वह न्यूनतम सांख्या ज्ञात कीक्तिए क्तिसे 2495 में िोडा िाना चाक्तहए ताक्तक योग 6,4 और 3 से 

पूर्णतः क्तवभाज्य हो।



a) 19/30

b) 21/30

c) 17/20

d) 30/19

A can complete a work in 25 days and B can complete it in 30 days. If they 

work on it together for 5 days, then the fraction of the work that is left will be:

A एक कायण को 25 क्तिनों में पूरा कर सकता है और B उसे 30 क्तिनों में पूरा कर सकता है। यक्ति 

वे उस पर 5 क्तिनों तक क्तमलकर कायण करते हैं, तो शेष कायण का अांश होगा:



a) 12

b) 22

c) 23

d) 6

The value of 

(17 - 9) + (57 - 10 ÷ 5 of 2) ÷ 4 is:



a) sec A

b) sin A

c) cosec A

d) cos A

(sec A + tan A) (1 – sin A) = ?



a) 1.2 m.

b) 0.5 m.

c) 5 m.

d) 2 m.

A tank 40 m long, 30 m broad and 12 m. deep is dig in a field 1000 m. 

long and 30 m. wide. By how much will the level of the field rise if the 

earth dug out of the tank is evenly spread over the field?

1000 मी. लम्बे और 30 मी. चौडे मैिान में एक 40 मी. लांबा, 30 मी. चौडा और 12

मी. गहरा टैंक खोिा िाता है । यक्ति मैिान में टैंक की क्तमट्टी समान रूप से फैलाई िाती

है तो मैिान का तल क्तकतना बढ़ िाएगा ?



a) 18 days

b) 23 days

c) 27 days

d) 32 days

12 men take 36 days to do a work while 12 women 3/4th of the same work in 36 

days .In how many days 10 men and 8 women together will complete the same 

work?

12 आिमी एक काम को 36 क्तिनों में कर सकते है। िबक्तक 12 औरते इसी काम का ¾,  36 क्तिनों 

में कर सकती है। 10 आिमी और 8 औरते एक साि इस काम को क्तकतने क्तिनों में पूरा करेगी?



a) 48π cm.2

b) 50π cm.2

c) 100π cm.2

d) 200π cm.2

A circle is circumscribed to a rectangle with sides 16 cm. and 12 cm. What is the 

area of the circle?

16 सेमी. और 12 सेमी. भुिाओां वाले क्तकसी आयत के पररतः वतृ्त खींचा गया है। वतृ्त का 

के्षत्रफल क्या है?



a) 30%

b) 31%

c) 35%

d) 25%

A shirt priced at Rs. 1500 inclusive of 225 Rs. tax is being sold at a 

discount of 40%. Find the actual discount percent.

225 रुपये के कर की कीमत के साि 1500 रु की कीमत की एक शटण को 40% की छूट 

पर बेचा िा रहा है। वास्तक्तवक छूट प्रक्ततशत ज्ञात कीक्तिए।



a) 16

b) 14

c) 11

d) 15

The ratio of A's age 3 years ago and B's age 5 years ago is 4 : 5. If A is 4 

years younger than B what is the present age of B?

3 साल पहले A की उम्र और 5 वषण पहले B की उम्र का अनुपात 4: 5 है। यक्ति A, B से 4 

वषण छोटा है तो B की वतणमान आयु क्या है?






